# CONTRACT AMENDMENT FOR PROFESSIONAL AND TECHNICAL SERVICES FOR WATER AND WASTEWATER QUALITY SAMPLING AND LABORATORY TESTING SERVICES

Bid No. 23-26-00ITB

	THIS CO	NTRAC	T AMENDI	<b>MENT</b> is	made t	his	_ day of _		
2025,	between	the BO	ARD OF (	COUNTY	COMM	IISSION	ERS, DES	ото с	OUNTY,
<b>FLORI</b>	I <b>DA</b> , a P	olitical S	Subdivision	of the S	State of	Florida	hereinafte	r referr	ed to as
("COU	NTY") wh	ose add	ress is 201	East Oa	k Street	, Suite 2	03, Arcadia	a, Florid	a 34266;
and SA	ANDERS	LABOR	ATORIES,	INCORP	ORATE	<b>D</b> , a Flor	ida Corpor	ation, he	ereinafter
referre	d to as (	"CONTR	ACTOR"),	whose a	ddress	is 1050	Endeavor	Court, I	Nokomis,
Florida	34275.		-						

WHEREAS, an Agreement was entered into on the 16th day of November, 2023, between COUNTY and CONTRACTOR for the provision of Water and Wastewater Quality Sampling and Laboratory Testing Services for the DeSoto County Utilities Department; and

**WHEREAS,** the original Agreement provided for a term of two (2) years from the date of execution with an option to renew for three (3) additional one (1) year terms upon mutual agreement of both parties; and

WHEREAS, the COUNTY and CONTRACTOR desire to exercise said renewal option and extend the Agreement for an additional one (1) year term under the same terms, conditions, and requirements as stated in the original Agreement, except as modified herein to include a five percent (5%) price increase as outlined in the revised Sanders Laboratories Fee Schedule Proposal for 2025 Renewal, attached hereto as Exhibit "A."

**NOW, THEREFORE,** in consideration of the mutual covenants and agreements hereinafter contained, the parties hereto agree to amend the Agreement as follows:

<u>SECTION 1. INCORPORATION BY REFERENCE.</u> The foregoing "WHEREAS" clauses are hereby incorporated by reference and affirmed and ratified by the parties as true and correct.

**SECTION 2. TERM OF AGREEMENT.** The current Agreement between the COUNTY and CONTRACTOR shall continue for an additional one (1) year term beginning

on November 16, 2025, and continuing through November 15, 2026.

**SECTION 3. COMPENSATION.** The unit prices contained in the original Agreement shall be increased by five percent (5%) as reflected in the attached revised Exhibit "A" – Sanders Laboratories Fee Schedule Proposal for 2025 Renewal. All other provisions of Section 6, Compensation, shall remain in full force and effect.

<u>SECTION 4. OTHER TERMS.</u> All other provisions, terms, conditions, covenants, and responsibilities of the November 16, 2023 Agreement shall remain in full force and effect.

[REMAINDER OF THIS PAGE LEFT INTENTIONALLY BLANK]

IN WITNESS WHEREOF, the pa	arties have executed this Agreement as of the of
ATTEST:	BOARD OF COUNTY COMMISSIONERS DESOTO COUNTY, FLORIDA
By: Mandy J. Hines County Administrator	By: J.C. Deriso Chairman
	BoCC Approved:
Approved as to form and Legal sufficiency:	Date:
Valerie Vicente County Attorney	
MUTNECOEO	
WITNESSES:	SANDERS LABORATORIES, INC.
	By:
	Printed Name:
	Title

# DeSoto County Utilities Water & Wastewater Quality Sampling & Lab Testing Services Bid Tabulation 23-26-00ITB

#### DESOTO COUNTY REGIONAL WASTEWATER TREATMENT PLANT

					abo 1c.	ratories,	New Prices			
<u>Influent</u>	<u>Frequency</u>	Per Year	P	er Test		Yearly	5%	per test	5%	per year
BOD, Carbonaceous 5 day	Weekly	52	\$	17.00	\$	884.00	\$	17.85	\$	928.20
Solids, Total Suspended	Weekly	52	\$	9.00	\$	468.00	\$	9.45	\$	491.40
<u>Effluent</u>	<u>Frequency</u>	Per Year							\$	•
BOD, Carbonaceous 5 day	Weekly	52	\$	17.00	\$	884.00	\$	17.85	\$	928.20
Solids, Total Suspended	Weekly	52	\$	9.00	\$	468.00	\$	9.45	\$	491.40
Cliform, Fecal	Weekly	52	\$	11.00	\$	572.00	\$	11.55	\$	600.60
Total Phosphorus	Monthly	12	\$	14.00	\$	168.00	\$	14.70	\$	176.40
Total Nitrogen	Monthly	12	\$	18.00	\$	216.00	\$	18.90	\$	226.80
Drinking Water Standards	<u>Frequency</u>	Per 5 Year							\$	-
Primary & Secondary Inorganics	Every 5 years before Permit Renewal	1	\$	750.00	\$	750.00	\$	787.50	\$	787.50
Radium 226 & 228	Every 5 years before Permit Renewal	1	\$	180.00	\$	180.00	\$	189.00	\$	189.00
Dioxins	Every 5 years before Permit Renewal	1	\$	375.00	\$	375.00	\$	393.75	\$	393.75
Reclaim Water Analysis	Frequency	Per 5 Year							\$	-
Giardia	Every 5 years before Permit Renewal	1	\$	425.00	\$	425.00	\$	446.25	\$	446.25
Cryptosporidium	Every 5 years before Permit Renewal	1	\$	425.00	\$	425.00	\$	446.25	\$	446.25
TABLE TOTAL			\$ 2	,250.00	\$	5,815.00			\$	6,105.75

## DESOTO CORRECTIONAL INSITUTION WASTEWATER TREATMENT PLANT

			Sa	anders L	abo	ratories,						
				lı	nc.	·	New Prices					
<u>Influent</u>	Frequency	Per Year	P	er Test		Yearly	5%	per test	5%	per year		
BOD, Carbonaceous 5 day	Monthly	12	\$	17.00	\$	204.00	\$	17.85	\$	214.20		
Solids, Total Suspended	Monthly	12	\$	9.00	\$	108.00	\$	9.45	\$	113.40		
<u>Effluent</u>	Frequency	Per Year							\$	•		
BOD, Carbonaceous 5 day	Every two weeks	26	\$	17.00	\$	442.00	\$	17.85	\$	464.10		
Solids, Total Suspended	Every two weeks	26	\$	9.00	\$	234.00	\$	9.45	\$	245.70		
Coliform, Fecal	Every two weeks	26	\$	11.00	\$	286.00	\$	11.55	\$	300.30		
TABLE TOTAL			\$	63.00	\$	1.274.00	Ś	66.15	\$	1.337.70		

# GROUND WATER MONITORING WELL TESTING FOR SIX (6) WELLS-DESOTO COUNTY REGIONAL WASTEWATER TREATMENT PLANT

		Sanders Laboratories, Inc.				New Prices			
PARAMETER	<u>Frequency</u>	Per Year	P	er Test		Yearly	5% per test	5	% per year
Water Level NGVD	Quarterly	4	\$	10.00	\$	240.00	\$ 10.50	) \$	252.00
Nitrogen, Nitrate, Totals (as N)	Quarterly	4	\$	10.00	\$	240.00	\$ 10.50	) \$	252.00
Solids, Total Dissolved (TDS)	Quarterly	4	\$	9.00	\$	216.00	\$ 9.4	5 \$	226.80
Arsenic, Total Recoverable	Quarterly	4	\$	12.00	\$	288.00	\$ 12.60	) \$	302.40
Chlorida (as C1)	Quarterly	4	\$	9.00	\$	216.00	\$ 9.4	5 \$	226.80
Cadmium, Total Recoverable	Quarterly	4	\$	12.00	\$	288.00	\$ 12.60	) \$	302.40
Chromium, Total Recoverable	Quarterly	4	\$	12.00	\$	288.00	\$ 12.60	) \$	302.40
Lead, Total Recoverable	Quarterly	4	\$	12.00	\$	288.00	\$ 12.60	) \$	302.40
Coliform, Fecal	Quarterly	4	\$	12.00	\$	288.00	\$ 12.60	) \$	302.40
pH*	Quarterly	4	\$	10.00	\$	240.00	\$ 10.50	) \$	252.00
Sulfate, Total	Quarterly	4	\$	9.00	\$	216.00	\$ 9.4	5 \$	226.80
Turbidity*	Quarterly	4	\$	12.00	\$	288.00	\$ 12.60	) \$	302.40
Sodium Total Recoverable	Quarterly	4	\$	12.00	\$	288.00	\$ 12.60	) \$	302.40

Sepcific Conductance*	Quarterly	4	\$ 12.00	\$ 288.00	\$ 12.60	\$ 302.40
Temperature ( C ), Water*	Quarterly	4	\$ 12.00	\$ 288.00	\$ 12.60	\$ 302.40
Dissolved Oxygen (DO)*	Quarterly	4	\$ 12.00	\$ 288.00	\$ 12.60	\$ 302.40
TABLE TOTAL			\$ 177.00	\$ 4,248.00		\$ 4,460.40

#### **DESOTO CORRECTION INSTITUTION WATER TREATMENT PLANT**

			Si		abo nc.	oratories,	Ne	w Prices		
<u>Parameter</u>	<u>Frequency</u>	Per Year	Р	er Test		Yearly	5%	per test	5%	per year
Bacteroilogical	Monthly (7-Samples)	12	\$	12.00	\$	1,008.00	\$	12.60	\$	1,058.40
	Unscheduled Emergency Weekday (2-Samples) Unscheduled	6	\$	12.00	\$	144.00	\$	12.60	\$	151.20
	Emergency Weekend (2-Samples)	6	\$	12.00	\$	144.00	\$	12.60	\$	151.20
Primary & Secondary Inorganics	Every Three Years	0.33	\$	750.00	\$	247.50	\$	787.50	\$	259.88
Nitrate/Nitrite	Annual	1	\$	10.00	\$	10.00	\$	10.50	\$	10.50
Gross Alpha	Quarterly	4	\$	75.00	\$	300.00	\$	78.75	\$	315.00
Radium - 226	Quarterly	4	\$	90.00	\$	360.00	\$	94.50	\$	378.00
Radium - 228	Quarterly	4	\$	90.00	\$	360.00	\$	94.50	\$	378.00
Uranium	Quarterly	4	\$	75.00	\$	300.00	\$	78.75	\$	315.00
TTHM	Annually	1	\$	45.00	\$	45.00	\$	47.25	\$	47.25
HAA5	Annually	1	\$	77.00	\$	77.00	\$	80.85	\$	80.85
Presticides / PCB's-also known as (S.O.CSynthetic Organic Contaminates	Every Three Years	0.33	\$	950.00	\$	313.50	\$	997.50	\$	329.18
TDS	Quarterly (3 Wells-4,6 & 8)	4	\$	9.00	\$	108.00	\$	9.45	\$	113.40
Chloride	Quarterly (3 Wells-4,6 & 8)	4	\$	9.00	\$	108.00	\$	9.45	\$	113.40
Sulfate	Quarterly (3 Wells-4,6 & 8)	4	\$	9.00	\$	108.00	\$	9.45	\$	113.40
Lead	Every Three Years	0.33	\$	12.00	\$	3.96	\$	12.60	\$	4.16
Copper	Every Three Years	0.33	\$	12.00	\$	3.96	\$	12.60	\$	4.16
V.O.C.	Every Three Years	0.33	\$	12.00	\$	3.96	\$	12.60	\$	4.16
TABLE TOTAL			\$ 2	2,261.00	\$	3,644.88			\$	3,827.12

# LAKE SUZY WATER SYSTEM

			Sa		abo nc.	oratories,	New	/ Prices		
<u>Parameter</u>	Frequency	Per Year	Р	er Test		Yearly	5%	per test	5%	per year
Bacteroilogical	Monthly (4-Samples)	12	\$	12.00	\$	576.00	\$	12.60	\$	604.80
	Unscheduled Emergency Weekday (2-Samples)	6	\$	12.00	\$	144.00	\$	12.60	\$	151.20
	Unscheduled Emergency Weekend (2-Samples)	6	Φ.	40.00	+	444.00	<b>*</b>	12.60	•	454.00
Nitrate/Nitrite	Annual	1	\$	12.00 10.00	\$	144.00 10.00	\$	12.60 10.50	<del>\$</del>	151.20 10.50
TTHM	Quarterly	4	\$	45.00	\$	180.00	\$	47.25	\$	189.00
HAA5	Quarterly	4	\$	77.00	\$	308.00	\$	80.85	\$	323.40
Lead	Every 3 Years	0.33	\$	12.00	\$	3.96	\$	12.60	\$	4.16
Copper	Every 3 Years	0.33	\$	12.00	\$	3.96	\$	12.60	\$	4.16
TABLE TOTAL			\$	192.00	\$	1,369.92			\$	1,438.42

## DESOTO COUNTY PUBLIC WATER SUPPLY SYSTEM

Sanders Labora	ories,	
Inc.	New Prices	

<u>Parameter</u>	<u>Frequency</u>	Per Year	Р	er Test	Yearly	5%	per test	5%	per year
Bacteriological	Monthly (5-Samples)	12	\$	12.00	\$ 720.00	\$	12.60	\$	756.00
-	Unscheduled Emergency Weekday								
	(2-Samples)	6	\$	12.00	\$ 144.00	\$	12.60	\$	151.20
	Unscheduled Emergency Weekend								
	(2-Samples)	6	\$	12.00	\$ 144.00	\$	12.60	\$	151.20
Nitrate/Nitrite	Annually	1	\$	10.00	\$ 10.00	\$	10.50	\$	10.50
TTHM	Quarterly	4	\$	45.00	\$ 180.00	\$	47.25	\$	189.00
HAA5	Quarterly	4	\$	77.00	\$ 308.00	\$	80.85	\$	323.40
Lead	Every 3 Years	0.33	\$	12.00	\$ 3.96	\$	12.60	\$	4.16
Copper	Every 3 Years	0.33	\$	12.00	\$ 3.96	\$	12.60	\$	4.16
TABLE TOTAL			\$	192.00	\$ 1,513.92			\$	1,589.62

# TRANSPORTATION WATER SYSTEM

			Sa	anders La Ir	abo 1c.	ratories,	Nev	v Prices		
<u>Parameter</u>	<u>Frequency</u>	Per Year	Р	er Test		Yearly	5%	per test	5%	% per year
Bacteriological	Quarterly (3-Samples)	4	\$	12.00	\$	144.00	\$	12.60	\$	151.20
	Unscheduled Emergency Weekday (2-Samples)	6	\$	12.00	\$	144.00	\$	12.60	\$	151.20
	Unscheduled Emergency Weekend (2-Samples)	6	\$	12.00	\$		Ś	12.60	\$	151.20
Nitrate/Nitrite	Annually	1	\$	10.00	\$	10.00	\$	10.50	\$	10.50
Radium-226	Annually	1	\$	90.00	\$	90.00	\$	94.50	\$	94.50
Radium-228	Annually	1	\$	90.00	\$	90.00	\$	94.50	\$	94.50
TABLE TOTAL			\$	226.00	\$	622.00			\$	653.10
ANNUAL TOTAL FOR ALL TESTING					\$1	8,487.72			\$	19,412.11

SUMMARY	PREVIOUS	NEW
Sanders Laboratories, Inc.	\$18,487.72	\$19,412.11